Regrouping tens and ones )7

ve the following

<
~

egrouping

ens ot 17 ones = tens ones

tens + | 1|7 | ones

tens + 1 tens + |7 ones

ens + 3 nes = tens + ones.

H
—

ens + 38 ones = ns| + 8 ones

tens + 26 ones = tens + 6 ones
ens + 27 ones = tens | + ones
ens + 1 ones = tens + ones
&
ons .+ 1€ nes = ens + ones
= =
NS+ 5] nes = en + ones

© http://mathskills4kids.com




Solution

Regrouping tens and ones

Solve the following by regrouping
O tens + 17 ones = tens ones
tens '+ 1.7 | ones
tens |+ | 1 /tens |+ |7 ones
=1l tens |+ |7 ones
S0, 0 tens + 17 ones = 1tens + 7 ones
ens + 3 nes = 6 tens + 0| ones
ens + 38 ones=_9 tens + 8 ones
4 tens + 26 ones=_6 tens+ 6 ones
ens + 27 ones = |/ tens + 7 ones
ens + 12 ones = 9 tens + 2 ones
,é'y&
4 tens + 1€ nes = ens + 9 ones
tens + 5! nes = 8 tens + 3 ones
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